l ENNUX @ PACKAGED UNITS - KITS

506871-01 11/2019
©2019 Lennox Industries Inc. Supersedes 02/2012 NOVAR 2024 DDC KIT

Dallas, Texas, USA

INSTALLATION INSTRUCTIONS FOR NOVAR 2024 DDC KIT 86W93 AND 86W94 USED WITH
SCC/SGC UNITS

THIS MANUAL MUST BE LEFT WITH THE OWNER
FOR FUTURE REFERENCE

Shipping and Packing List

Package 1 of 1 contains:
1 - NOVAR 2024 DDC assembly (A1)
1 — Discharge air sensor (RT1) with P63 connector
1 - Bracket, DDC controls
1 - Bag assembly containing:
4 - #8-32 X 1/2” screws
1 — Wiring diagram sticker
6 — #10-16 X 5/8” screws

Application

The NOVAR 2024 DDC is used with SCC/SGC series units.

An A74 room air sensor is used to monitor space tempera-
ture. Do not install the return air sensor if a room air sensor
used. The room air sensor is wired to the Prodigy® control
by the controls contractor.

The RT1 discharge air sensor monitors discharge or supply
air temperature.

AWARNING

Improper installation, adjustment, alteration, service or
maintenance can cause personal injury, loss of life, or
damage to property.

Installation and service must be performed by a qualified
installer or service agency.

ACAUTION

Physical contact with metal edges and corners while
applying excessive force or rapid motion can result in
personal injury. Use caution when working near these
areas during installation or while servicing this equipment.

AWARNING

Electric shock hazard.

Can cause injury or death.

Before attempting to perform any service
or maintenance, turn the electrical power
to unit OFF at disconnect switch(es).

Unit may have multiple power supplies.

| Installation

Disconnect all electrical power to unit.
Open compressor section access doors.
Depending on the size of unit, perform step 4 or 5.

036, 060, 120 Units: Position DDC hinged mounting
panel as shown in figure 1. Make sure the DDC faces
the A55 Prodigy control board. Align holes on hinged
bracket with dimples on the unit side. Secure DDC
panel to unit with two 5/8” screws.

b=

UNIT SIDE

(WITH DIMPLES) DDC (Faces Prodigy®

Control)

DDC HINGED

MOUNTING PaNEL| | A2 Prodigy

Control

SECURE DDC ASSEMBLY TO UNIT
WITH TWO 5/8" SCREWS

Figure 1. 036, 060, 120 Units - Installing DDC
Hinged Mounting Panel

Pivot hinged panel away from Prodigy® control board to ac-
cess the DDC. See figure 2.

AS55 Prodigy
control board

DDC \
DDC \ E—
ASSEMBLY. F\
NI .

Figure 2. 036, 060, 120 Units — Accessing DDC
(Top View)

1119

506871-01



5. 240 Units: Attach the hat section provided in the kit to
the DDC assembly using two 5/8” screws (see figure 3.)

Pivot hinged panel away from A55 Prodigy control board to
access DDC (see figure 5).

HAT SECTION - USED

ON 240 UNITS ONLY
\\ /C>
0~
S
o DDC HINGED
X MOUNTING PANEL

<
g «

Figure 3. 240 Units — Attaching DDC Hinged
Mounting Panel to Hat Section

Position the DDC assembly as shown in figure 4. Make
sure the DDC faces the A55 Prodigy control board. Align
holes on hat section with dimples on the unit side. Secure
hat section to unit with four 5/8” screws.

hat section to unit with four 5/8" screws.

UNIT SIDE

(WITH DIMPLES) DDC (Faces

A55 Prodigy
ontrol board)

A55 PRODIG

DDC HINGED nggsgl_
MOUNTING

HAT SECTION

PANEL

Figure 4. 240 Units - Installing DDC/Hat Section

A55 Prodigy
poC_ control board
DDC L J
ASSEMBLY_
| |
R
/
HAT
SECTION/

Figure 5. 240 Units — Accessing DDC (Top View)

Route harnesses coming from sub—assembly as shown in

figure 6 for the following steps 1 through 3.

1. Disconnect J264C from M2 board and connect to P303
of controller sub—assembly.

2. Connect connectors (J297A, B and C) to M2 board
J297.

3. Route J63 Harness through conduit bushing.
4. Route harnesses coming from DDC Control sub-
assembly J63 down to lower blower support panel.

+ SCC/SGC 036/060 units: see “Figure 7. Routing
J63 RT1 Harness (036,060 Units)” on page 3.

+ SCC/SGC 120/240 units: see “Figure 8. Routing
J63 RT1 Harness (120,240 Units)” on page 3.

J62 (A2)
J63 (RTUZ

SEE NOTE 3 -SEE NOTE 2

SEE NOTE |
i —

P300

P30!

P302

& o

P — I
o [°[P262_]° [P263 [ P264 |°[ P265 [pzee] P267 ] °
P268 [:
P269 [
°

il

Ci=="]

P297 P298 PZQQDD e
[I] Y ¥ n—

%

NOVAR 2051

NOTES:

|. ATTACH ITEM Ol WITH ITEM 04 FROM OUTSIDE OF MULLION.

2. UNPLUG J264C FROM M2 BOARD AND CONNECT TO P303 OF
CONTROLLER SUB ASSEMBLY AS SHOWN.

3. SECURE P303 TO HARNESS BUNDLE IN AREA SHOW

4. ROUTE WIRES THROUGH WIRE TIE AS SHOWN AND PULL TIGHT.

SEE NOTE 4

&t Tt b

B4

Figure 6. 240 Units — Accessing DDC (Top View)




RTIG
REF —

Figure 7. Routing J63 RT1 Harness (036,060 Units)

P63/J63

Figure 8. Routing J63 RT1 Harness (120,240 Units)

| Discharge Air Sensor RT1 |

1. Insert discharge air sensor probe into knockout as
shown in figure 9 (036, 060 units) or figure 10 (120, 240
units). Secure with two screws provided.

i
! —
] = 72N
AL~/ /7y @
IR/ I
T R L
H || LT s
‘ °
I )
| ,le‘ /D/_
7 \\
DAS P63/J63 RT1 DISCHARGE
PROBE DAS CON- AIR SENSOR
NECTIONS (DAS)

Figure 9.

RT1 Discharge Air Sensor (036, 060 Units)

2. Connect RT1 discharge air sensor plug P63 to RT1
discharge air sensor jack J63.

i
| —
| = 772N
Hit |~/ R
O v
IR N [
1| A e
‘ °
Sy ]
allll=Y
/ J O\
DASPROBE/
P63/J63 DAS
RT1 DISCHARGE
AIR SENSOR (DAS) CONNECTIONS

Figure 10. RT1 Discharge Air Sensor (120, 240 Units)

|Wiring |

FIELD WIRING

Controls contractor completes field wiring connections to
optional system components shown in dotted lines in “Fig-
ure 12. 240 Units — Accessing DDC (Top View)” on page
4,

WIRING DIAGRAMS

Wiring diagram sections are affixed to inside of unit panel
in alpha—numeric order. Figure 11 shows an example of a
complete system diagram on an installation consisting of
an SGA240 unit with an electro-mechanical or electronic
control system and a modulating economizer. Affix the C7”
section wiring diagram, provided, over the top of the exist-
ing C” section wiring diagram.

A2 } B7 } c2 } D1
Gas ‘ Cooling or ‘ Electro- ‘ Modulating
Heating Heating and mechanical Economizer
Section | Cooling | Control | Section
} Section } Section }

AFFIX C7 WIRING DIAGRAM SECTION HERE

Figure 11. Complete System Diagram



FINAL WIRING CHECK
Before applying power to unit check the following wiring:
1. Jack/plug connections to DDC and RT1 sensor.

2. Jack/plug connections to system options such as electric heat or economizers.
3. Polarity of wiring between A16 control microprocessor, room air sensor if used, and TB1 terminal strip.
4. Line voltage to unit and/or options such as electric heat.

F297 [ | AB5

2V PONER Al 38 P79 J79 J297A
O—& =
@ Rap TBSS
FAN @—}11>_E =
He (@)
4

36 15, 7 E
>
Es P63 ¢ 139)—1 2 S B
o< c D1>—3 = | 5 it
4 S i
i sl
nre = P79 79 | Zlor ) §
5 - z
® | et )
S56 DAMP@_ 91 2 A6 | @< >_
: 58 o NS
/ P303J264C Ta B 23 2
A16 B3 > s52 o
e TG | || 98
ro  Op | ralESopiea(k
J— N
827 N
6 by | > Flete 010
&p> > lgt ©&>1@
22 A s R RS
AT5 . o5 | S § a8 BE
- —|-@ >12 v &S y100 P100
|>5 4 RT16
-H——— DI ¢ G,
10 4
F—>>— PENLSEN S
Q8
& &S 99 P99 Ry
P N 8
s42
oz p—¢
A S | R o J299A
2
&G oo P SOm
M7 R SBUS - .y
S149 D RS485 |>
e’d DI-4 FIRE ALARM
CONTACT
Xeo H c  JACK |> SUPPLIED
= O BY OTHERS
060 + 5
OQQO| P304
24V COMMON
KEY COMPONENT
Al PANEL LOGIC
AL6 CONTROL MICROPROCESSOR
A5 PANEL, MAIN S27 AND S52 USED WITH ETM 2024, A55 SETTINGS
763 SENSOR, CO2 (1AQ) OPTIONAL NEED TO BE MODIFIED WHEN TRANSFERRING TO
AT5 SENSOR, ROOM ETM2024
SENSOR ONE, SMOKE, RETURN AR
AL SENSOR TWO- SVOKE SUPPLY AR 542 HOOKUP FOR UNITS LESS INVERTER, SEE INVERTER
Al72 : . WITH BYPASSING FOR $42 OR INVERTER ALARM INPUT
A173___|MODULE, CONTROL SMOKE DETECTION HOOKUP
Ra5 STRIP, RESISTOR 1K OHM, 5SWATT, TRIAC
T SENSOR, DISCHARGE AIR A :;.ré ?E;I:LV\EESDNEED TO BE MODIFIED WHEN $42 OR $149
RT6 SENSOR, A55 DISCHARGE AIR (IMC))
RT16 | SENSOR, RETURN AIR TEMP /A CONNECT A172 SENSOR TO J261 ON SUPPLY AIR SMOKE
s27 SWITCH, FILTER DETECTOR ONLY
S42 SWITCH, OVERLOAD RELAY BLOWER MOTOR LO
S52 SWITCH, AIRFLOW A\ WHEN FIELD INSTALLING NOVAR 2024, UNPLUG J264C FROM
$56 SWITCH, MOMENTARY OVERRIDE AS5 AND CONNECT TO P303 AS SHOWN
S149__| SWITCH, OVERFLOW
TB55 | TERMINAL STRIP FOR 1K RESISTOR
JIP JACK/PLUG DESCRIPTION
62 RETURN SENSOR A2 ~———————— = DENOTES OPTIONAL COMPONENTS
63 DISCHARGE AIR SENSOR RT1 CLASS 11 FIELD WIRING
79 NOVAR HEADER
80 NOVAR PIGTAIL
99 RT6 RETURN AIR SENSOR
100 RT16 SUPPLY AIR SENSOR
250 SMOKE DETECTOR ONE o |HE: ™ STRATEGOS 04/18
251 SMOKE DETECTOR ONE < L WIRING DIAGRAM
252 SMOKE DETECTOR TWO S -
253 SMOKE DETECTOR TWO 53747901
255 MODULE, CONTROL SMOKE DETECTION ACCESSORIES
261 SUPPLY SMOKE DETECTOR JUMPER
262 ECONOMIZER CONTROL FOR SG/SC UNITS
264 BLOWER DECK NOVAR ETM 2024
297 THERMOSTAT - DDC INTERFACE
298 1AQ INTERFACE REV 1
299 SAFETY INTERFACE Supersedes New Form No.
303 BLOWER PROVING SWITCH 537203-01 537479-01
304 SYS BUS ,© 2011 Lennox Commercial

Figure 12.

240 Units — Accessing DDC (Top View)




